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Eksempel' Hgyde Kilde: ssb.no og vernepliktsverket

https://www.ssb.no/a/histstat/tabeller/4-22.html
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Eksempel- IQ_teSter Kilder: https://snl.no/IQ og

https://www.mensa.no/iq/
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Eksempel: 1IQ Kilder: https:/snl.no/IQ og

https://www.mensa.no/iq/
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Eksempel: 1IQ Kilder: https:/snl.no/IQ og
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X
from scipy import stats

P(X<115)=2?

stats.norm.cdf (115,100, 15)

0.8413447460685429
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Eksempel: 1IQ Kilder: https:/snl.no/IQ og

https://www.mensa.no/iq/
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from scipy import stats
P(X>130)=?
1 - stats.norm.cdf(130,100,15)

P(X>130)=1-P(X<130)

0.02275013194817921


https://www.mensa.no/iq/
https://www.mensa.no/iq/
https://snl.no/IQ
https://snl.no/IQ

